Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

N
[

2yMass (GeVp
'S
—

0.13F

0.12

400 600
Channel Number

Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

2ycWidth (GeV

0.005
0- R B PR B
0 200 400 600
Channel Number
Pi0 Mass (lterationQ)

x10° Entries 4.211337e+08
3900F X? | nc.005e+04 / 165
Q [ Prob 0
= | po 1.366e+06

[ pl 0.1345
2500 p2 0.008199
© [ p3 5.581e+05
=~ I p4 0.01538
5‘.@)00_— p5 -2.82e+07
% i p6 7.584¢+06
o [ p7 5.015¢+05
oo \\\
1000 - h

S IR PN PN P M P

006 008 01 012 014 016 018 02

2y Mass (GeV)

Signal to Background

5.

aF

sr

- o

W"""&W

2_

e e e M
o

0'...I...I...I...

0 200 400 600

S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

Channel Number



Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) SI/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

&15 - - 5
£1°1 H :
S e =
0 = 2
& 2 o
° ©
L c
‘eafenvessabotoosmngalestisonelancagotasssioncnf] =)
| | 7] o<
0.13r 0.005
wmm
L L L]
oo~ v v v ok v 1 0 . A R
0 200 400 600 0 200 400 600 0 200 400 600
Channel Number Channel Number Channel Number
Pi0 Mass (lterationl)
x10° Entries 4.212024e+08
3900F X2 / ncB.008e+04 / 165
[ Prob 0
S L po 1.367e+06
[ pl 0.1345
2500._ p2 0.0082
o p3 5.582e+05
=~ I p4 0.01539
5‘.@)00_— p5 -2.819e+07
% i p6 7.58e+06
o [ p7 5.021e+05
(1500_—
1000 - h
S P BT PP EPRPIP I PR

0.06 0.08 0.1 0.12 0.14 016 018 0.2
2y Mass (GeV)



Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE) SI/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

815 - - 5
2 ] 2
e e °
0 = 2
Gaar ? i
W £
(=]
: - o izt
0.13( 0.005f
WWM
L L [ ]
oo~ v v v ok v 1 0 . A R
0 200 400 600 0 200 400 600 0 200 400 600
Channel Number Channel Number Channel Number
Pi0 Mass (lteration?)
x10° Entries 4.212100e+08
3900F X2 / ndB.007e+04 / 165
[ Prob 0
= | po 1.367e+06
[ pl 0.1345
2500F p2 0.0082
o p3 5.578e+05
~ I p4 0.01539
5‘.@)00_— p5 -2.818+07
% i p6 7.578+06
o [ p7 5.02¢+05
@soor \
1000 - h
S P BT PP EPRPIP I PR

0.06 0.08 0.1 0.12 0.14 016 018 0.2
2y Mass (GeV)



Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

N
[

2yMass (GeVp

0.13F

0.12

[N
D
—T

200 400 600
Channel Number

Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

=
6]

2yWidth (GeVR

1000

L)
i °
0.005F
0- NI BT BT B
0 200 400 600
Channel Number
Pi0 Mass (lteration3)
x10° Entries 4.223936e+08
u X? / ndf2.68e+04 / 165
%00' Prob 0
= I p0 1.365e+06
[ pl 0.1345
'?500_— p2 0.007913
S F p3 5.831e+05
[ p4 0.01515
@00— p5 -2.923e+07
S | p6 7.8026+06
o p7 5.008e+05
ooF
g ,/ N

0.06 008 01 012 014 016 018 0.2

2y Mass (GeV)

Signal to Background

S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

M| ? .

600
Channel Number

200 400



Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

2yMass (GeVp
&
(2]

[N
D
—T

0.12

0.13F

200 400 600
Channel Number

Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

=
6]
o

2yWidth (GeVR

[ ]
I L ]
0.005[
0- PP U RS B
0 200 400 600
Channel Number
Pi0 Mass (lteration4)
x 103 Entries 4.224172e+08
C X2 / ndt.569e+04 / 165
00' Prob 0
= [ po 1.363e+06
[ pl 0.1346
'?500__ p2 0.007912
S r p3 5.854e+05
[ p4 0.01512
@00— p5 -2.926e+07
S [ p6 7.822e+06
@] p7 4.983e+05

g

N

1000

Lol o by by by by n by vy by
0.06 0.08 0.1 0.12 0.14 016 018 0.2
2y Mass (GeV)

Signal to Background

S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

5

4

3

2 o
""‘..M.u

0 , P R . I

0 200 400 600

Channel Number



agslS

= L

o

[}

[%2]

© L

G1af

N L
afommeluarrensensauionnesieeagvernsigetny

0.13F .

0.12-...I...I...I...
0 200 400 600

Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

Channel Number

2yWidth (GeVR

=
6]

Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

L]
| L ]
0.005
0- PR DR R B
0 200 400 600
Channel Number
Pi0 Mass (lteration5)
x10° Entries 4.224295¢+08
C X2 / nd1.499e+04 / 165
%00- Prob 0
S [ po 1.362e+06
pl 0.1346
D00l p2 0.007911
S p3 5.865e+05
r p4 0.0151
g)oo- p5 -2.925e+07
S I p6 7.824e+06
o p7 4.978e+05
Yoof \
1000F = ]
S T I BT P B BT
006 008 01 012 014 016 018 02

2y Mass (GeV)

Signal to Background

S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

5
4
3
a3 eogtters:Eherttentastory

9000 808°3508e 800000908, o0, Loo

M R R SR T BT, S
400 600

Channel Number




Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

2yMass (GeVp
&
(2]

[N
D
—T

0.13F

0.12..I...I

{

Signal to Background

400

600
Channel Number

Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

(5915
O
o |
E L [ ]
T | . o
i o o 0 000 8 o °C o0
N. (]
I [ ]
[ ]
0.005[
0- PP U RS B
0 200 400 600
Channel Number
Pi0 Mass (lteration6)
x10° Entries 4.224349¢+08
C X2 / nd1.451e+04 / 165
%00- Prob 0
= [ po 1.362e+06
pl 0.1346
'?500- p2 0.007909
S 3 p3 5.875e+05
[ p4 0.0151
@00— p5 -2.923e+07
S [ p6 7.82e+06
) p7 4.977e+05
o0F \
1000F b |
P EPEPEP EPEPET RPN S AT IPUPEP PR
0.06 008 01 012 014 016 018 02

2y Mass (GeV)

S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

PRI B

400

600
Channel Number



2yMass (GeVp

[N
D
—T

0.12-..I...I...I..

N
[

0.13F

Fit Mass vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

[

Signal to Background

0 200 400 600
Channel Number

Fit Width vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

=
6]

o

2yWidth (GeVR

1000

[ ]
0.005[
0- PP U RS B
0 200 400 600
Channel Number
Pi0 Mass (lteration?7)
x10° Entries 4.223568e+08
C X2 / ndt.419e+04 / 165
%00' Prob 0
= [ po 1.361e+06
[ pl 0.1346
'?500_— p2 0.007907
S 3 p3 5.885e+05
[ p4 0.01509
@00— p5 -2.923e+07
S | p6 7.822e+06
o I p7 4.972e+05
oof
d N\

0.06 008 01 012 014 016 018 0.2

2y Mass (GeV)

S/B vs. Channel (L1 - BLACK, L2 - GREEN, L3 - RED, L4 - BLUE)

1 PR IR, 2
0 200 400 600

Channel Number
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2y fit mean vs. Iteration
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o/p vs. Iteration (E1, E2 > 500 MeV)
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Current iteration (Blue), last iteration (Green), and current ccdb constants (Red)
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